Q9/The I cross-section shown in Figure is a beam subjected to a maximum shearing force
of 100 kN.Determine the shearing stress

(a) at the junction between web and flange.
(b) at the neutral axis
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Q&/The distributed load shown in figuve,

given.

a-Determine the maximum value of w that will not cause a shearing stress greater
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ZMPa ih the beam

b-With the value of w caleulated above, draw-the shear and moment diagrams.
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Q10/ A timber beam 80 mm wide by 160 mm high as shown in the figure, is subjected to a
vertical shear V = 40 kN. Determine the shearing stress developed at the top and bottom for

each layer of the section. =
b b = 80 mm
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Q8/ The T section shown in Figure is the cross-section of a beam formed by joining two

rectangular pieces of wood together. The beam is subjected to a maximum shearing force
of 60 kN.

I- Prove that the NA is 34 mm from the top.

2- Prove that the [ = 10.57 x 106 mm4.
Using these values, determine the shearing stress
(a) at the neutral axis
(b) at the junction between the two pieces of wood.
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